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I- LISTENING COMREHENSION: (8marks) 
Listen and answer the following questions. Tick the correct option. 

1. How much does the father owe his son in allowance? 

A. three dollars 

B. thirteen dollars 

C. thirty dollars 

2. Why hasn't the father given his son allowance? 

A. because he didn't remember to do it 

B. because he doesn't have any money now 

C. because his son already has money 

3. These statements are false correct them with information from the text. 

Statements  correction 

the father usually gives his son allowance on 
Friday. 

………………………………………………………………… 

The father will get the money from the bank. 
 

…………………………………………………………………. 

 
4. HOW will Joshua spend his pocket money? Listen and complete. 
“ I'm going to put some in ……………………………….., give ………………………… to the poor people, 
and use the rest to buy books.” 
5.What does the underlined sentence express? 
 
Can I have my allowance?  Expresses: ……………………………………………………… 

6.Are the following sounds same or different? Write “S” or “D” 

Allowance …………    owe 

Piling   ………..     buy 

 

II  LANGUAGE: (12marks) 
Fill in the blanks with the right words from the box: (2.5mks) 
 
 
 
Hi, I’m Jane. I’m a housewife. I’m always …………………….. doing the horrible 
household ……………………. . I’m really …………………… and fed up. Nobody cares 
…………………. Me. I can’t ………………………… any more. What shall I do?  
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Stand – exhausted – busy – chores – about – on - pleased 



 
1- Circle the correct alternative ( 3 mks ) : 

I don’t have any brothers or sisters. I am an only child. When I was little, I 
liked it because I had all my parents’ attention. I had a (best / better/ 
worst) friend who lived next door. She was (as old as / as older as / as 
oldest as) me and she was a bit like my sister. But now as I become an 
adult, I think it’s really difficult. My father (is dying / dead / died) about ten 

years ago so of course I am the one who is left totally responsible for my 
mum. I am the one who is left to look (after / for / at) her. After I got 

(marriage /married /marry), I made the decision to have (most / more/ much) than a child. I 
have two children now. They seem very happy and they get on very well with each other. 
  
Choose the right option and rewrite it in the appropriate place.(3.5mks) 

No family is perfect. Problems pop up and people 
1) …………………… from time, and this may occur 
even in the 2) ………………….. home. Kate – who 
wanted to share her story is a sixteen 3) 
………………………… old school girl. She was brought 
up in a 4) ……………………. Family. Her parents are 
loving but authoritarian. She is not allowed, for 
example, to bring 5) ……………………… friends home. 
What’s more she 6)………………… to work hard in 
nearby farms to earn  her pocket money. Her 
father got mad at her and slapped her, she just 7) 
……………………… from home.  

1- Argue – agree – grow 

2- Happy – happier – happiest 

3- Year – years – year’s 

4- Conservative – open – lenient 

5- Her – hers – she’s 

6- Have – has – haves  

7- Leave – life – live  

 
Put the bracketed words in the right tense or form : (3mks) 
 
 
 
 
 
 
 
 
 
 
 

 

 

  

My son is becoming completely weird these days. Yesterday, we (to 

fight) ………………. about his new look. He was wearing a short-sleeved 

shirt that contains big colorful spots . It (not to suit) …………………….. him 

at all . As for his hair I noticed that he is becoming a curly- haired 

youngster. I got mad at him when I first saw him .Thus tension between 

(we) ……………. reached its (high)…………………… level. He has plenty of 

shortcomings. He has become not only a (to quarrel) …………………………… 

teenager but also a (quick / temper) ……………………………… one .  

 


